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QUIZ 7, PHY 191 B, Blue, Friday, Oct 21, 2016 (20 pts)
[see both sides of sheet!]
SHOW WORK CLEARLY OTHERWISE ZERO CREDIT!

Question 1.7

A 400 g particle moving along the x-axis experiences the force shown in the figure. The particle’s velocity

is 3.0 m/s at x = 0 m. What is its velocity at x =3 m? E (4pts) l F.(N)
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Question 2: A car of mass 1000 kg rounds a curve of unknown radius on a road banked at 30° to the
_horizontal, turning leftward as shown, with the maximum permissible speed such that it is on the verge of
U e & skidding outward (but it does not). The coefficient of static friction between the car and the road is 0.8.
a) Draw a free body diagram for the car. Indicate the direction of the centripetal acceleration {(3pts)
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Ver F.. = MTay = MQ, o .
T X h(%nﬁ"*’/‘*sc‘f’;@)

Nsin & +@w5& = ma, P BT -

ST : = 1706ofinde )

° o~ | g - ‘ ol a - (6 ! g _°

a_ = AU02q(5n30+ 0.8ws30)| = (44T6(Em 15+ ouwsis) (77 (”rﬂ'c’wﬂ'*”
. T

1100

(000 : I AGO
- > _ X
= a5} s = = s

Tirn chest nuer



o
Question 3: A 100 g ball on a 60 cm string is swung in a vertical circle about
a point 200 cm above the floor. The tension in the string when
the ball is at the very bottom of the circle is 6.0 N. A very sharp
knife is suddenly inserted, as shown in the figure, to cut the string
directly below the point of support.

a) What is the launch velocity (magnitude and direction) of the ball
at the bottom of the circle at the instant the string is cut? [(3 pts) |
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b) How far to the right of where the string was cut does the ball hit the floor?
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